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Note: First 15 minutes are allotted for the candidates to read the

question paper.
fRw: ) witumafedd |
T WEm 1 ® 10 OF agiaseda € | 9 e 11 ¥ 20 7F AT 77
Fadfia &, e s SR T 30 VIERT % Si=iid feral € 1 9% A
‘21 ¥ 26 7% @Y IA0G §, FEE T@E IW 100 W= F = A
¢ | yvT W@ 27 | 30 7% fawga sww £, R s w7

iii) WAF W & fuifia oiF Iuw wug@ sifea €

Instructions :

1) All questions are compulsory.
Question Nos. I to 10 are Multiple Choice Type. Question Nos. 11

to 20 are Very Short Answer Type, which are to be answered within
30 words each. Question Nos. 21 to 26 are Short Answer Type,

which are to be answered within 100 words each and Question
Nos. 27 to 30 are Long Answer Type, which are to be solved.
iiij) Marks to each question are'_indicated against it.

(TgRwR Y ) |
( Multiple Choice Type Questions )

i1)

T g o 3 oree -t i R .
1. TF WS B 1 SH-G1 A dad TR 7
i) AaY @ WEeR WW%W@W

@m@'mﬁﬁmﬁm iv) forelt e & for wderd st o

7
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2. I T R a4

i) a3 Gﬁmﬂ—mm

W 5o srgem - s s
"W s - siftvem srgum
W) e ST - e
3. mﬁmﬁﬁmwmﬁ&m&mmmg
) e o R vy
i) st (wpe) amend A wwh A
i)t [ wngen € qenfy @
iv)  2)-fre g et € w2
4, qmm#mmmmﬁqt,wﬁr{aﬁm%ﬁm(#mﬁmm
i) JEHTN WEW FEETS R F

i) Y ETHeR &

iii)  wft g ¥

v) v A o 1
5. wmw%ﬁmﬁmﬁmwmmmﬁﬁmﬁaﬁ%mﬁaﬂa_'

fear s 4 :

i) s arguma § | ii] mﬁwmﬁ

i) wm v i & 1

6. Emﬁ%mﬁmmﬂhﬁt?

i) W@HR | i) e wee

ifi)  \wE I iv) U

| R 1
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7. % WA xR g &

i) Fften w3 i) w3 &

iii) W # wahrn ¥ iv) v fifem ot @ = ¥ l
8. el Y emrern & frva # - e g e s & 2

i) ,Wﬁmh i) wirarfa sma +1 faao

mL forefta Rty Ry iv) A = fE 1
9.

....................

T FA % g w1l s79m e R s 2 |
i) QT v

i) SRR

i)  ATIRICIA IaT FEa

iv) T Qe T 1

10. m-mmeMmﬂmﬁaa?{
) T AEE - 03
iii) @ A - 23

i) @I AEE - 13
iv) WA TS - 33

1
Select the correct answer and write it in your answer-book :
1.  Which is not essential element of a partnership firm ?
i}, At least two partners
ii) There ;m an agreement between all partners
ili)y Equal share of profit and loss
iv)  Partnership agrcémcnt is for some business 1
2. Sacrifice ratio means
i)  New Ratio — Old Ratio ii) . Old Ratio - New Ratio
ilij Old Ratio - Gaining Ratio  i¥) Gaining Ratio - Old Ratio 1

70000/7137 ' Turn over
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3 A NEw pDRrtnes rrusy P ,,,,"“"h’ s partnership
AR
1 with the « OTIREEE of
_ey i i F

Fie ".._.i”,

it} with the consern of
mllju; triers
Ity of par

141} with the consen af ajy
Gl s
Parinc

W) with the CONnsSent of 2/ ret of old partners
L

)
4 On reurement of a partner, 8OOy will be credited 1o the Capty) 8CCOLn,
of
1 Reuring partner Remaining Partnery
it All partners " None of thege
3 On dissolution of & partnershin firm. profit or lose o realination

n ¥ b - -
da\‘.’h."tl-’f"f armnng e rl.lrt.-rr‘

| ratio ) In profir shanng rato

i incapita
il Eqgually W) None of these
& Who are the real owners of a company ?
1 Government
1) Board of Directors
m)  Equity sharcholders
v} Debenture holders

A debenture holder 1s entitled to

~d

1 Fixed dividend
1) Share in profit
m)  Voting nghts in the company

) Interest at the fixed rate

70000/7) 37



10.

11.

11.
12..

12.

13.

13.
14,

14.

15.

15.

S 349

Which statement provides information about the profitability of the
company ?

1) Income sfatcment

ii)  Statement of Rcfa.ined carnings
iii)  Financial position statement
iv)  Statement of cost

Current ratio is used to find

1) Long term solvency 1) Short term solvency

iij)  Profitability iv) None of these ' 1

Which accounting standard is related to cash flow statement ?

i) Accounting standard - 03 ii) Accounting standard-13

ii}  Accounting standard-23 iv) Accounting standard-33 1
( 3fa g wia we )
( Very Short Answer Type Questions )
T WHER F sifa Tfe @ wani R 7 2
What is meant by "Unlimited liability of a partner" ? 2

@ﬁammmwwwwmma.

State any two occasions when reconstitution of a partnership firm takes

place. ' 2
mmmmammm: - 2
Write two main rights acquired by the new partner. 2
mﬁaﬂiaﬁmﬁ%mimmﬁmémﬁmaﬁiﬂm%m
T gHa ¥ ) . 2

State any two items of deduction that may have to be made from the
amount payable to a retiring partner. 2

Tt A witfRufivat ey R srte o a9 Wt 91 Rwe A wwa 2 | 2

Write two circumstances under which a partnership firm is dissolved. 2

70000;713' A Mirar
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16,
16.
17.
17,

18,

18,
19,

19.
. 20.

t

20.

21.

21.

22,

22,

23.

23.

24,

24,

6
gt el Q vy sy R 7 | . ?
What is meant by listed company ? 2
wourlt St o @ s R o R 7 . 2
What do you mean by participating preference shares ? 2
TN ¥ FNUR T KOG B wiiE DR | 2
Classily debentures from the point of view of sécurity. 2
R-aet st & *ré Q) IerEw 4R ) 2
Giive any two examples of non-current assets. 2
g vaTg faater & wiE A W 05 | 2
State any two objectives of cash flow statement. 2
(g wfaym)
( Short Answer Type Questions )

W HE 9t el g aarsd S o aner e § sava wffim 9 it |

S

State any five important points which must be incorporated in a

partnership deed. https://www.upboardonline.com 5

I S T} 7 O WER ¥ YAy w58 B o R I 7 243

What is hidden goodwill ? How is it adjusted on the admission of a
partner ? - 243
ﬁ%mma@mﬁ%ﬁm%nﬁm,mﬁﬁﬁi 5

1

Clarify the difference between dissolution of a firm and dissolatio | f
_ n o

partnership.

st v R AP g o
What is Reserve capital ? Does it differ from 'capital reserve' ? 2+
_ . + <

70000/7137



25. m%mm%mﬁm%ﬁmﬁwm%?

What is meant by issue of Debentures for consideration other than cash ?

7

349
S

25.
)
26. oo e g w7 @ 7 3@ B A vy qangw | 2+3
i
26. What is Comparative Balance shﬁ?t ? Mention any three objectives of it.
24+ 3
( I e )
( Long Answer Type Questions )
27. tﬁ,ﬂaﬂtmtﬁﬁﬁm%ahzﬂzlgesﬁwﬂmﬁwﬁmwg '
AR FTHY g a1 } 3 39 faftr W o 57 anPfes fagr feiad o - |
' anfel gy
Eﬂaﬁ' ¥ awaf T
(%0) (%o)
TATGR 30,000 | U3 8,000
| g9 60,000 | TTER 75,000
fm-zrﬁrm 15,000 | &4 90,000
wdart afagfd q4a 1,40,000
CED 10,000 | T 22,000
gSham
@ 1,00,000
w 80,000
R _40,000 2,20,000
: ~ 3,35,000 3,35,00?
g TEE g} I & H IR To 82,000 9F T IR IR FH B %o 20,000
? w97 | U qeUEH T MU I-?ﬁﬂrﬂmﬁfﬁﬁm%ﬁaﬁﬁﬂﬁiaﬁaqﬁ
qr |
FTH T2 F GO E watvat Fifd | 10
. qar
e G & e o o @ 7 U WER ¥ R W TR @ e
2 S & = Tage | 3+7
70000/7137
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27. P, Qand R are partners in a firm sharing profits in the ratio of 22,

R retires ang the Balance sheet of the firm as on that date was as.under :

Balance Sheet

{_Tqbtuﬂ“ Amount Assets Amount
— (Rs. ) (Rs.)
Creditors 30,000 | cash 8,000
General Reserve 60,000 | Debtors 75,000
P& L Account 15,000 | Stock 90,000
Workmen's Plant 1,40,000
Compenéation Reserve 10,000 | Patents 22,000
Capital Accounts :
P 1,00,000
Q 80,000
R 40,00.0 2,20,000
' 3,35,000 3,35,000

It was agreed that stock is to be brought down to Rs. 82,000 and plant is
reduced by Rs. 20,000. Patents were found valueless. There was no

liability on account of workmen's compensation reserve.

Record necessary entries at the time of retirement. 10

OR

What do you mean by revaluation account ? Write reasons for the

preparation of ‘Revaluation Account' on the admission of g Partner, 3,

70000/7137
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28. 3M fefo I Fo 10 I wRAW 20,000 W F Rrw 3T Wi fRd I P s

LD

IETH T o 3, AEHA [ Fo 2, TYW AT W o 2,50 IR facfm g=a1 w

%0 2.50
1

ST A 30,000 3191 % ford amie fear ik B s amrdes e -
8.0003#2ﬁé33n&7;ﬁa;‘1_r{gf '

16,000 379t % 3maEH F — 19 000 37w
a,ooo'ahﬁ%mézaﬁﬁ_;ﬁ

mmﬁmhmwm@w.

e wfafeat HiRe | | 10
Hua |

mﬂ#mmé?mﬁﬁﬁmﬁﬁmaﬁﬁrﬁl | 3+7

28. R Ltd. invited applications for 20,000 shares of Rs. 10 each payable as
follows : '
Rs. 3 on application, Rs. 2 on allotment, Rs. 2.50 on first call and Rs. 2.50
on second call.

Public applied for 30,000 shares and the allotments were made as under -

To applicants for 8,000 shares — full

To applicants for 16,000 shares — 12,000 shares -'

To applicants for 6,000 shares — Nil

All money were duly received. Pass journal entries, | 10
OR
What is meant by company ? Explain its ChﬂractﬂriStics. 3+ 7
'0000{7137.
ver
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29. PriRea & weret v ST 2 yg oy AT ) o R
e v
(%0) (%) A4
YRR =y 75,000
50,000 | fa 2,75,000
»q 1,50,000 | fiza aTaeh 25,000
m 4 +
R 20,000 | Fiftm @y 40,000
E 10,000
il 25,000
At
TR 3 W A e w ad 4 7 o v 3w ¥ wea s e AR
2424
29. Calculate gross profit ratio and net profit ratio from the following : S+
Amount Amount
(Rs. ) { Rs. )
Opening stock _ 50,000 | Sales 2,75,000
Purchase 1,50,000 | Sales Return 25,000
Purchase Return 20,000 | Closing stock 40,000
Wages #10,000
Salary 25,000
OR

What do you mean by debenture and

between debenture and share.

share ? Explain the differenc

30. Az 1o € ww gt ok @ it 6 foufx Peafefaa d sren
] - ™, 2022 urd, 2023
(%0) (%0)
e =ot ¥g @R 1,000 —
HAETHIEAR A 10,000 19,000
TR 15,000 10,000
@ fam 20,000 40,000

o & R F A 2o 45,000 WA g | TEA Bowmat A vy @y o

i |

1

qoATETH A fra w1 % ?mmﬁm@mmma

T T i |
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30. The following is the position of current asscts and current liabilities of

Z Ld. L
Items March, 2022 March, 2023
L ({ Rs. ) {Rs. )
Provision for doubtful debts ! 1,000 -
Short-term loans \ 10,000 19,000
Creditors 15,000 10,000
Bills payable 20,000 40,000

The company incurred a loss of Rs. 45,000 during the year. Calculate cash

from operating activities. ‘ 10
OR

What is comparative income statement ? Give a specimen of comparative

income statement with the help of imaginary figures. 3+7
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